REVISION FOR THE SECOND TERM TEST ENGLISH 7
I. PHONETICS.

Find the word which has a different sound in the part underlined.

1. A.boxes
2. A.combine
3. A.grey

4. A.celebrated

Circle the word that has the main stress different from others.

5. A. offer

6. A.sandal
7. A, Easter
8. A. parade

II. VOCABULARY AND GRAMMAR.

B. wishes
B. plumber
B. obey

B. pronounced

B. abroad
B. police
B. asleep

B. festive

C. goes

C. vocabulary

C. key

C. discussed

C. prefer
C. station
C. Christmas

C. romantic

Choose the best answer A, B, C or D to fill in the blanks.

9. Tom and Jerry is an ... movie for everyone.

A. entertain

10. -...... are you going to Phu Yen? -To attend Hoi Mua Festival

A. How

11. Nobody has the key to the house, .....?

A. has it

B. entertaining

B. What

B. do they

C. entertained

C. When

C. have they

12. The white cat is ....., and the black cat is ...... .

A. hersjof mine

B. hers/l

C. her/my

D. peaches
D. boring
D. survey

D. danced

D. arrive
D. season
D. beautiful

D. hilarious

D. entertainment

D. Why

D. does it

D. hers/mine
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13. Let’s go for a walk this evening, .....?

A. don’t we B. shall we C.won't we D. will we

14. Petroleum is limited. It ..... by another source of renewable energy.

A. replaces B. will replace C. will be replaced D. will be replacing
15. At this time next month, we ..... the new flying boat.

A. are going to test  B. will test C. are testing D. will be testing

16. An aircraft without a human pilot abroad is called a ...... aircraft

A. single-piloted B. double-piloted C. triple-piloted D. pilotless
17. Not many people went to see the film; .... it received good reviews from critics.
A.so B. because C. however D. although

18. Wind, hydro and solar are ..... energy sources.

A. new B. modern C. non-renewable D. renewable
19. Nick washes his hands a lot, ..... he doesn’t have the flu.

A. so B. but C.and D. although

20. All flights to New York tomorrow will be ..... because of the bad weather.

A. soon B. late C. early D. delayed
21. ..... accidents were recorded this year more than that year: 35 cases to 56 cases.
A. Lower B. More C. Less D. Fewer
22. We will use more ...... energy in the future.

A. sun B. sunny C. solar D. sunlight
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23. We are looking for types of vehicles that help us to avoid .......
A. traffic B. walking C. rush hours D. traffic jams

Mark the letter A, B, C or D to indicate the word or phrase that is CLOSEST in
meaning to the underlined part in each of the questions.

24. There is an enormous gap in technology between developing and developed countries.
A. tiny B. huge C. small D. important

Mark the letter A, B, C or D to indicate the word or phrase that is OPPOSITE in

meaning to the underlined part in each of the questions.
25.I'm bored with doing the domestic chores every day.

A. tired of B. interested in C. depressed by D. fed up with

Find a mistake in the four underlined parts of each sentence and correct it.
26. We prefer living in the countryside because it has fewer pollution than the city.

A B C D
27. Did Tim feel frightening when he saw the snake at his feet?
A B C D

I11. WRITING.

Read the text then answer the questions.

Easter is an important Christian festival and holiday. It is held to celebrate the
resurrection of Jesus Christ. Easter is not a fixed holiday. Its date varies between 22nd
March and 25th April. People celebrate Easter around the world.

In the UK, Easter is a public holiday. People give Easter chocolate eggs to their
friends and family. There are also egg hunts for kids. In the US, Easter is a national
holiday. People can go to church and have a special family meal. They also organise
egg-hunts and give gifts of coloured eggs. In Russia, Easter is one of the most
important holidays. People celebrate it with an Easter breakfast or meal. They also

create very beautiful Easter eggs.

Questions:
28. What is Easter held?
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29. What are the differences between Easter in the UK, US and Russia?

30. Do only Christian people celebrate Easter?

Read the following passage and choose the best answer

Many people still believe that natural resources will never be used up. Actually, the

world's energy resources are limited. Nobody knows exactly how much fuel is left.

However, we also should use them economically to try to find alternative sources of

power. According to Professor Ma Burnham of the New England Institute of

Technology, we have to start conserving coal, oil and gas before it is too late; and

nuclear power the only alternative.

However, many people do not approve of using nuclear power because it is very

dangerous. What would happen if there were a serious nuclear accident? Radioactivity

causes cancer and may badly affect the future generations.

The most effective thing is that we should use natural resources as economically as

possible.
31. How much fuel is left?

A.No one knows B.It will never be C.There is a lot of

exactly. used up. fuel.
32. We should use coal, oil, and gas

A.as much as possible B.carelessly C.all are incorrect

33. According to Professor Marvin Burnham,

D.Let's use it as much

we would like.

D.as economically as

possible
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A.nuclear power is B.we have to C.A and B are D.A and B are
the only alternative conserve coal, oil, incorrect correct

and gas
34. According to the passage, using nuclear poweris _______

A.safe B. cheap C.interesting D. dangerous

35. Radioactivity from nuclear power

A. is necessary to B. can have good C. alters a new kind D. causes cancer and
cure diseases effects on the future of energy has bad effects on
generations the future
generations

IV. WRITING. Rewrite these sentences.

36. New York has more billionaires than Tokyo.
TIPS R S A AR
37. Although footballer Quang Hai is so young, he plays football beautifully.

DTN el cosos e ymus oo oo sspmsnucomecev s s o eyl S A
38. Her arms were injured. She could complete the carved eggshell in a week.

L0 B DHCE O i i s o S v A
39. Governments will find solutions to reduce energy consumption.

ORI o s e A A A s A

40. She worked very hard. She couldn’t please her step mother. (Nevertheless)

—--THE END---
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